S1

Counting Coins Answer Key

1)

Joanne has 6 pennies. Her brother gives her 3 dimes and 2 pennies. How much
money does Joanne have now?

38 cents

Mr. Shelby spends 3 quarters on a candy bar. If he buys a single piece of chewing
gum for 2 dimes, how much does he spend altogether?

95 cents

A 40-year-old man parked his car in a suburban area and inserted 2 quarters and
5 nickels into the parking meter. How much did it cost to park the car?

75 cents

Melinda, a sales associate, returned 2 dimes and 6 nickels to Nicole. What
change did Nicole receive in total?

50 cents

Rick saves 1 dime, 3 nickels, and 9 pennies in his coin jar every day. How much
money does he save each day?

34 cents
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